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A. 5
B. 7
C. 10
D. 14
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A. [image: ]

B. [image: ]

C. Yes, because all of their corresponding sides are equal in length.
D. No, because the lengths of the corresponding sides are not proportional.


4. Which of the following statements individually prove that two triangles are similar?
 
     I. All pairs of corresponding sides are parallel.
     II. All pairs of corresponding sides are proportional by the same ratio.
     III. All of the corresponding angles are congruent.

A. I, only
B. II, only
C. II and III, only
D. I, II, and III


5. [image: ]


A. [image: ]

B. [image: ]

C. [image: ]

D. [image: ]
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A. dilation
B. translation
C. rotation
D. shear


7. Which of the following properties of dilations would least likely be used to establish the AA criterion for two triangles to be similar?

A. The image formed when a line segment is dilated is another line segment.
B. If a dilation has a larger scale factor than another dilation, it produces larger images.
C. The image formed when an angle is dilated is another angle of equal measure.
D. The point located at the center of a dilation is not affected by the dilation.
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A. [image: ]

B. [image: ]

C. [image: ]

D. [image: ]
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B. [image: ]

C. [image: ]

D. [image: ]
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The dashed triangle is an image of the solid triangle. What is the scale factor of the image?

A. ¼

B. ½

C. ⅔

D. 2
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A. No, because the rotation changes the clockwise order of the angles.
B. No, because the reflection changes the clockwise order of the angles.
C. Yes, because the transformations taken are each rigid motions which preserve angle measure and segment length.
D. [image: ]
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A. [image: ]

B. [image: ]

C. All translations, reflections, and rotations carry angles onto angles of the same measure.
D. All translations, reflections, and rotations carry line segments onto line segments of the same length.


13. [image: ]


A. [image: ]

B. The triangles are similar by AAA but they are not congruent.
C. [image: ]

D. [image: ]
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C. [image: ]

D. [image: ]
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A. The triangles are not congruent because more information is needed.
B. [image: ]

C. [image: ]

D. [image: ]
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C. [image: ]

D. [image: ]
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The coordinates of the vertices of quadrilateral ABCD and quadrilateral
EFGH are shown below.

A(3,3), B(3,8), C(8,8), D(8,3),
E(6,3), F(10,6), G(7, 10), H(3,7)

Are quadrilaterals ABCD and EFGH similar? Why or why not?
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No, because /CDA is not congruent to /GHE.
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Yes, because EFGH is a translated rotation of ABCD.
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The triangles shown below are similar.

A
B
X
¥ Z

Which of the following statements is true?
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In the diagram below, ABC and DEF are triangles such that
Z/ABC =~ /DEF and /CAB ~ /FDE.

4

D

Which type of transformation would least likely be mentioned in a proof that
establishes that A ABC is similar to A DEF?
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The endpoints of the altitudes of /A ABC are connected to form A A'B’C’.
Congruent angles are shown in the diagram below.

What series of transformations can be used to show that A AB"C” is similar
to A ABC?
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1 rotate A AB’C’” 90° counterclockwise about A
2 reflect A AB’C” across line AB

3.dilaste A AB'C

¢ scale fact
 scale factor —

with respect to A
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1 reflect A AB'C’ across line AB
2. rotate /A AB'C’ 90° counterclockwise about A

AB
3. dilate A AB'C" by scale factor = with respect o 4
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1 reflect A AB'C’ across line AB
2. rotate /A AB'C’ counterclockwise about A by the measure of /BAC'

3. dilate A AB'C" by scale factor o
ilate  scale factor —

with respect to A
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1 rotate A AB'C’ counterclockwise about A by the measure of / BAC
2.reflect A AB'C’ across line AB

3.dilaste A AB'C

 scale factor o with respect to 4
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In the diagram below, Z A is common to AABC and AADE, and /C = /E.

€ B

Barry dilates AADE at point A so that the image of point E touches point C.
He finds that, after the dilation, A ABC looks exactly the same as the image of
AADE. Which statement is true?
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/D is congruent to ZA.
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/D is not congruent to /B.
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AABC is similar to AADE.
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AABC is congruent to AADE.
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Triangles ABC and DEF are shown below.
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AABC can be transformed into ADEF through the series of transformations
listed below.

1. Rotate AABC 90° clockwise about point C.
2. Reflect AABC across a horizontal line.

Is ADEF congruent to AABC?




image28.jpg
Yes, because the transformations taken alter the angles and segments of AABC'
precisely to match their corresponding parts in ADEF.
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Sarah is writing a proof to show that congruent triangles have corresponding
sides of equal length. Her proof so far is shown below.

Let A ABC be congruentto /A A"B'C". That is, there exists some T', a
series of translations, reflections, or rotations that carries A ABC onto

AA'B'C’.

What observation will allow Sarah to complete her proof?
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T is a translation followed by a reflection.
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T is a transformation that preserves congruence.
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Triangles JK L and PQR are shown below.
J
A

8cm

8cm

K Q

Which statement is true?
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Sides JK and PQ are not necessarily the same length.
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Any series of translations that carries side K1 onto side QR must also carry J
onto P.
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There is a sequence of translations, reflections, and rotations that carries A JKL
onto A PQR.
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Two triangles are shown.
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Which of the following best explains why the triangles are congruent?
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By the Pythagorean theorem, JL is congruent to FH , so the triangles are
congruent by SSS.
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Because angles K and G are congruent, angles J and L must also be congruent to
angles F and H. respectively.
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A rotation that carries sides JK and KL onto sides FG and GH. respectively,
also carries A JKL onto A FGH.
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A rotation that carries angle K and sides JK and KL onto angle G and sides
FG and GH, respectively, also carries A JKLonto /A FGH.
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Triangles PAT and WIN are shown below.
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Which of the following best explains the congruency of A PAT and A WIN?
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The triangles are congruent because both A PAT and A WIN have a side that
is 12 inches long
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The triangles are not congruent because the angles in A PAT are not in the same
place as the angles in A WIN.
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The triangles are congruent because there is a series of translations, rotations, and
reflections that carries A PAT onto A WIN.
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Alex is constructing a perpendicular bisector of line segment GH by using a
compass and a straightedge. So far, Alex has drawn the arc shown below.

G

H

What should be the next step in the construction?
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The coordinates of points A and B are shown below.
A(5,2)
B(1,5)

ABis dilated about the point (5, 5) with a scale factor of 2. What is the length
of the dilation of AB?
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Given that AABC ~ AQRS, which of the following statements is true?
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